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(109& 552 AAMARLFERATE  LRRA D £
! #74 %70,000,0005 )
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we | o W% P WP
X AR S NET WERIE P L HHFR FE

1 | PO3 | Sk |z Aritamih v @A (GCE) 95 $3,300
LESEAT AR

2 [ PO7 | % (380557 10,000 $6,600

3| Ps | Kk f\éﬁig %:‘ RS 5 ERY 200 $5,500

4 P11 | Y EATAHEE) 100 $5,500

5 P12 SERG A (D) 100 $5,500

6 | P13 | % (; *f;” ‘; #77 i# (1265%57) 200 $5,500
E R 2 H N

7 | P14 (518 % %30 100 $3,300

8 P15 I AT v 1 $3,300

o [ pe | [ TR 1 $3,300

10 | P17 £ 34 48 4 3 (E2Y50) 1 $3,300

11 | P18 B B 1 $3,600

12 | P19 Ta ik 6t poae 1 $3,600
ERS HFHE

13 | P20 (2 22 ) 1 $3,600

EES i (B AR
14 | P21 (.; PR 1 $3,600
15 | PYA HPLC™ i 1 $3,500
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HPLC= 2
16 | PYB (55 5 4 111 (3)) 1 $4,500
LC/MSIMS = i+
17 | PYC 4 5 A 1T (3) 1 $5,500
LC/MSIMS = i
18 | PYD (555 54 110 () 1 $6,600
GCIMS= %
19 | PYE 4554 117 (3) 1 $5,500
GCIMS= %
20 | PYF (55 54 110 (3) 1 $6,600
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